

Mad Maths Minutes		Mad Maths Minutes	
Addition (Sums 5 to 7)		Addition (Sums 5 to 7)	
$4 + 3 =$	$4 + 2 =$	$4 + 3 =$	$5 + 1 =$
$4 + 1 =$	$2 + 5 =$	$4 + 1 =$	$3 + 2 =$
$2 + 4 =$	$2 + 3 =$	$2 + 3 =$	$5 + 0 =$
$3 + 3 =$	$5 + 0 =$	$0 + 5 =$	$3 + 4 =$
$1 + 6 =$	$5 + 2 =$	$7 + 0 =$	$2 + 5 =$
$3 + 2 =$	$2 + 4 =$	$4 + 2 =$	$4 + 3 =$
$0 + 5 =$	$4 + 3 =$	$2 + 5 =$	$3 + 2 =$
$3 + 4 =$	$0 + 7 =$	$2 + 4 =$	$0 + 6 =$
$1 + 5 =$	$2 + 3 =$	$6 + 0 =$	$3 + 3 =$
$6 + 0 =$	$4 + 2 =$	$3 + 4 =$	$1 + 4 =$
$6 + 1 =$	$1 + 4 =$	$1 + 5 =$	$6 + 1 =$
$2 + 5 =$	$5 + 2 =$	$0 + 7 =$	$5 + 2 =$
$7 + 0 =$	$5 + 1 =$	$5 + 2 =$	$2 + 4 =$
$3 + 2 =$	$3 + 4 =$	$2 + 3 =$	$1 + 6 =$
$3 + 3 =$	$0 + 6 =$	$4 + 2 =$	$3 + 3 =$

Mad Maths Minutes		Mad Maths Minutes	
Addition (Sums 5 to 7)		Addition (Sums 5 to 7)	
$3 + 3 =$	$3 + 4 =$	$3 + 3 =$	$4 + 2 =$
$2 + 4 =$	$4 + 1 =$	$0 + 5 =$	$7 + 0 =$
$5 + 0 =$	$3 + 3 =$	$2 + 5 =$	$3 + 4 =$
$2 + 5 =$	$1 + 5 =$	$6 + 1 =$	$5 + 0 =$
$7 + 0 =$	$4 + 2 =$	$1 + 5 =$	$5 + 1 =$
$1 + 4 =$	$3 + 2 =$	$2 + 4 =$	$2 + 5 =$
$4 + 3 =$	$1 + 6 =$	$3 + 4 =$	$2 + 3 =$
$6 + 1 =$	$3 + 2 =$	$6 + 0 =$	$4 + 2 =$
$2 + 4 =$	$3 + 4 =$	$5 + 2 =$	$0 + 6 =$
$4 + 3 =$	$6 + 0 =$	$1 + 4 =$	$5 + 2 =$
$5 + 1 =$	$5 + 2 =$	$1 + 6 =$	$2 + 3 =$
$2 + 3 =$	$0 + 5 =$	$2 + 4 =$	$0 + 7 =$
$4 + 2 =$	$2 + 3 =$	$4 + 3 =$	$4 + 1 =$
$2 + 5 =$	$0 + 7 =$	$3 + 2 =$	$3 + 2 =$
$0 + 6 =$	$5 + 2 =$	$4 + 3 =$	$3 + 3 =$